10

FEER O

£10%
5
MAX
MIN
BEREE

267848 EH

48 F&
65.8
100
10
22.9

H26.7.4 Z12[E]

\ 100 90 80 70 60 50 ‘ 39
5,700 =i XN
>0 F—1L 52 R | BB Bl
1 [Ty 100 91 5140 1 800
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1 |1J=F 100 81 4315 T 620
T |IChFh 90 T4 3305 20 120
8 |[niwa 85 T4 3925 9 740
8 |=88 85 T1 3425 14 680
8 |hiro 85 66 3375 18 380
8 |THH 85 49 3170 25 800
8 |DJJZw2D| 85 82 3165 26
8 |R. S 85 T2 2945 31 120
14 TSN 75 79 4550 6 800
14 |EOF% 75 92 4050 8 800
14 |EOY 75 69 3925 9 660
14 [SSK 75 79 3650 13 60
14 [Bh5h 5 62 3240 21 460
14 |9TX2R 75 66 2720 34 380
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14 [O&Corn | 15 40 2030 AT 380
14 [MONO 75 50 1750 52
23 |l H 70 78 3240 21 280
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27 |pray 65 68 3335 19 800
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64 X 125 = B76X12b=
872X 125= 648 X 125 =

(FRMm] nld, ¥ITley) 17X1256=
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